
 

 

 JEHLIČNATÉ  DŘEVINY  

 

Poznáte jak k sobě patří 
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JEHLIČNATÉ  DŘEVINY  

 

 

       Borovice kleč                    

      Smrk sivý                 

      Zerav východní       

      Jedle korejská         

      Cypřišek                   

      Modřín                     

      Tis                             

      Jalovec                     

 

 

 

 

 

 

 



 

 

 

JEHLIČNATÉ  DŘEVINY  

řešení 

 

 

Borovice kleč         4 - A 

Smrk sivý                8 - G 

Zerav východní      1 - H 

Jedle korejská        7 - B 

Cypřišek                  2 – E 

Modřín                    3 – C 

Tis                            6 – D 

Jalovec                    5 - F 


